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APF-2069
M.A. (Final) Examination, 2022

ECONOMICS
Paper - IX
Group-B (V)
(Econometrics)
Time : 3 Hours | [ Maximum Marks : 100
Section-A (Marks : 2 x 10 = 20)

Note —

Note —

M -

Answer all fen questions (Answer limit 50 words). Each question carries
2 marks.

(@us—3) (3® : 2 x 10 = 20)
Tt T/ e & S ST (SW-EE 50 IS) | Wi WY 2 3 T §|
Section-B (Marks : 7 x 5 = 35)

Answer all five questions. Each question has internal choice (Answer limit
200 words). Each question carries 7 marks.

(@) (3% : 7 x 5 = 35)
Tofi uTa gl % SW GNT ) Ye wed H famen @ wEe Sifeg (SW-E
200 ¥1s3) | T U9 7 SF 1 T

Section—C (Marks : 15 x 3 = 45)

Answer any three questions out of five (Answer limit 500 words). Each
question carries 15 marks.

(Tue-—|) (3% : 15 x 3 = 45)

o | fe=l 9 gvH % SWw ST (SW-H 500 Is2) | YAE 9T 15 376
Ealkd
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Section-A (WUE—3)
1. (@ Difference between population and sample regression.
T 9 Fiaes JAT wed § SRR
(i1))  Auto-correlation.
- ey |
(ii1)  Difference between exact and inexact relationship.
fuif@ a st ww=rg § o=R|
(iv)  Give any two reasons for lags.
qYed % HIE & HRO T |
(v)  Specification Bias.
fafyrear qamE |
(vi) Indirect Least Squares.
AYEEH AT o |
(vii) Multicollinearity.
E R REe Rl
(viii) Coefficient of determination.
= o |
(ix) Spurious Regression.
FHEE T |
(x)  Production function.

ST Hhed |
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Section-B (WUS-)
2. Durbin-Watson Test.
feA-arems St
Or (31a)
Explain the remedial measures for the problem of auto-correlation.
E-HEHErY H TA G H & STl I TR RIS |
3. Write a note on instrumental variables.

qeAyd = W feoof fafew)

Or (37d)

What is the technique of Simultaneous Equations ? Illustrate it with a few
examples.

I GHHION hT THRAE RN 7 7 FHD IO T TR
4. TIllustrate some methods for removing multicollinearity.
TE-TEIA 1 L F I B (A I AT R
Or (31gra)
Write a note on properties of regression coefficients in the least square regression.
=IATH o G H YA o 1 fasiearedi W feooht fafe |
5. Explain unit-roots test.
IHe-FeH T FH AT
Or (3A)

Give example of reduced form model and discuss the nature of the model.

TFd &9 HISA 1 ST IS, a9 Yhid i foe=m wifsa |

6. Explain the illustration of estimation of Cobb-Douglas production function by
arbitrary examples.

HIT-STAH SR Hed & hHa &l fafy sl wede TRl ¥ 9Hest |
Or (3197d)

Explain Engle Granger Test.
TSIA-TTR q&T0 T T HifoTg |
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Section—-C
(Tus-7)
7.  Following data of 20 pairs of observations on X and Y are given :
X, = 228, £Y; = 3121, XY, = 38927, £X7? = 3204, Zxy;, = 3347.60,

1

Tx? = 604.80 and Ty? = 19837, here x = (X - X)and y =(Y - Y) :

1

(1) Using O.L.S. method, estimate the regression equation of Y on X.

(ii)  Estimate RZ.

(ii1) Interpret the estimated equation.

X aY = & 20 Jeor-grE & fre e few gw € -

X, = 228, £Y; = 3121, XY, = 38927, £X? = 3204, Zxy, = 3347.60,

Yx? = 604.80 SR Xy? = 19837, W x= (X - X) Ry =(Y - Y) &:
(i) OL.S. fafy =1 9Am *Xd 3T Y & X W YW FHIHO Tehferd Hiog |
(i) RZ =t ToFT wifST

e o [aV
(i) oThfaa THIHI &I A HI |

8.  Write notes on the following :
(1) D-W test
(i) Dummy dependent variable
frafafea w fewfrr fafea .
(i) D-W 9de&m
(i) H% afEa =N
9. Explain the AR, MA and ARIMA modeling of time series data.
FHEAIUT THHRT AR, MA 3R ARIMA Hiefe &1 gqsEu|

10. What do you understand by the problem of heteroscedasicity ? How is it detected
and what are its consequences ?

oo fomnferar =) T9en @ 9 o= THE § 7 SERT Ul Y oFIE Wl § SR TS
1 9o B ¥ ?

11. Explain the Aitken’s generalized least squares method.

Tfohd i FARG =JAad o fafy & s i)
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